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PRECALCULUS VECTORS

Find the component form of AB. Then find the magnitude of AB.

1. A(2,4), B (-1,3) 2. A (4,-2), B (5,-5)
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Letv =(2,—1) and w = (~3,5). Findu algebraically.

3. u

=w-—27 4. u=2v+3w 5. u=5w-—2v
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Use the vectors in the figure below to graph each of the following vectors.
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Find a unit vector for each vector.

9. v=(-3,4)
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Find the vector ¥ with the given magnitude and the same direction as 1.

Mﬁ” = 3,1 =(3,—4)

Find the direction angle of each vector.
13. u=21—5j
&=xar' (%)
= -(p%.20° 3L
Quadvany I = 20| &0°

Find the component form of each vector.

15. |[ull = 20, angle = 150°
L= 20 oy (1s0)
y= 20 sini56)
4-\1%2,\0Y
Find 7 - w. (Dot Product)
17. v =51—2j, w=-31+]
= 5(-3) -2\
-\5 -2
= - \1

%ﬁu =2, F = {=5,7)

14. U= -31—7]
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16. [|u]] = 10, angle = 315°
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. V'V
Find the angle between v and w. CoS &63 - \0\\V\

19. v=30+2j, w=7i—5]

3(D)+2lS) | A 2@ »Y)
Weds we @7 1| WS = A = e

\\A\‘ ﬁ"\ & = LA .'Z.?>° \03\ = 6'6‘

21. Which pairs of vectors are orthogonal? l
¢ v=(=12), w= (o,-%) d. ¥=(2,-3), w=(-2,3)

TL dot pduer =0, ¥rwn ).

22. Find k so thatu and ¥ are orthogonal.






